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QUESTION 1

Which value under Storage Unit Properties reflects the total amount of space allocated to a basic disk storage unit?
A. Usable size

B. Capacity

C. Raw size

D. Available or Available space

Correct Answer: B

QUESTION 2

What causes a NetBackup appliance RAID controller to be in write-through mode for a data volume?
A. failure of a single Hard Disk drive

B. failure of the RAID controller battery

C. failure of one of the links to the storage

D. a RAID volume is in a degraded state

Correct Answer: B

QUESTION 3

A Windows policy protects over 100 servers using the directive ALL_LOCAL_DRIVES. The backup window for this
policy is a two-hour window that is unused by any other policy. When the jobs run, each server has no more than ten
paths, and the overall performance of the disk storage unit is degraded.

Which setting should the administrator modify to ensure only ten jobs write concurrently to the disk storage unit during
the backup window?

A. set theAllow multiple data streamspolicy attribute

B. enable theLimit Jobs per policyattribute

C. set theMaximum jobs per clienthost property

D. enable multiplexing for the storage unit and set the value

Correct Answer: D

QUESTION 4
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Which two storage unit types can be configured in NetBackup? (Select two.)
A. deduplication

B. NDMP

C. robot

D. media manager

E. tape

Correct Answer: BD

QUESTION 5

An administrator discovers that backup images configured with a fixed two-week retention are failing to expire. What is a
possible cause of this issue?

A. the disk pool containing the images is unavailable

B. secondary SLP operations on the images are incomplete
C. the tape containing the images is frozen

D. the tape containing the images is suspended

Correct Answer: B

QUESTION 6

Which utility should an administrator use to verify tape device configuration?
A. nbdevquery

B. tpext

C. bpmedia

D. tpconfig

Correct Answer: B

QUESTION 7
Upon arriving at work on a Monday, an administrator sees several replication Jobs that have failed with the
following error message:

No images were successfully processed
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Which two reasons may be the cause for the error code? (Select two.)

A. The checkpoint restart is disabled for the replication Jobs.

B. There are network connectivity issues between the source and target domains.
C. The NetBackup host ID-based certificate was revoked.

D. There is insufficient storage space on the target storage server.

E. There are insufficient tapes in the replication volume pool.

Correct Answer: AB

QUESTION 8

To reduce network use by limiting the number of parallel backup streams, which cloud setting should be modified under
the Scalable Storage host property?

A. Metering > Metering interval

B. Network Connections > Maximum concurrent jobs
C. Throttling > Total available bandwidth

D. Throttling > Sampling interval

Correct Answer: B

QUESTION 9

Which scenario accurately describes the creation of a full synthetic backup using tape?
A. a single drive can be used for both the read and write of the backup

B. a separate read drive and write drive can be used on the same Media Server

C. aread and write drive can be used on different Media Servers

D. a disk storage unit must be used prior to copying the backup to tape

Correct Answer: B

QUESTION 10
An administrator has downloaded a patch from the NetBackup appliance support website to a Windows
client. The administrator plans to move the patch to the appliance through a file share.

Accessing the \Wincoming patches folder from the Windows client fails.
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What does the administrator need to perform?

A. login to Windows as a NetBackupCLi user

B. install the Microsoft NFS Client package on the Windows client
C. use the share Open command in the CLISH

D. use the copy /k> command to join the split tar files

Correct Answer: A

QUESTION 11

NetBackup has frozen some of the tapes added to the robot.

Which log must be enabled to determine why the tapes were frozen?
A. ltid

B. robots

C. bptm

D. bpdm

Correct Answer: C

QUESTION 12

An administrator notices that backups are failing for clients added to a new backup policy. The backups attempt to run
again after 10 minutes.

How can the administrator modify the time between backup attempts?
A. modify the Job retry delay host property

B. modify the Policy update interval host property

C. modify the Schedule backup attempts host property

D. modify the Take checkpoints every value in the backup policy

Correct Answer: C

QUESTION 13
The administrator of a large bank needs to preserve financial information for an extended period of time. The bank\\'s

NetBackup 8.0catalog is now over 800GB in size, causing the catalog backups to contend for resources with production
system backups.
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How can the administrator shorten the time needed to back up the catalog?

A. use the NetBackup 8.0Agent for Symantec Enterprise Vault to perform an online archive of the catalog

B. create a catalog archive policy and execute it from the command line using the bpcatarc command

C. use the NetBackup 8.0client-side deduplication feature to shorten the time it takes to perform a catalog backup

D. back up the catalog by scheduling an online Sybase database backup policy to allow the backup to run without
contending for resources

Correct Answer: B

QUESTION 14

An administrator has a MS-Windows type policy that has failed for a Microsoft Windows NetBackup client. The policy
uses the ALL_LOCAL_DRIVES backup selection. See the extract from the end of the job details below:

12/21 /2016 19:28:28 — Error bpbrn (pid=32680) from client clientl: EBR — feilure reading
file: C:WProgram Files (x86)‘\Adobe\Reader 10.0\Reader\Localeirb NO\Acroform.WOR (WIN3Z2 2Z: The
syatem canncot find the fle specified.)

12/2172016 19:28:29 - Error bpbrn (pid=32c80) from client clisntl: ERR - Srapahot Error
while reading file: GLOBALROT\Dev_.ce\HarddiskVolumeShadowCopylZ\Program Files

(%86, \Adobe'\Reader 10.0\Beader‘\Localenb NO‘\Acroform.NOR

1272172016 19:28:29 - Critical bpbrm (pid=326B0) from client clientl: FIL - Backup operation
aborted!

12/21/2016 19:28:29 - Info bpbkar (pid=54308) accelerator sent £220537344 bytes out of
6173181440 bytes to server, optinizaticon 0.0%

1272172016 19:28:32 — Error bpom (pid=326E83) media manager terminated by perent process
1272172016 19:28:34 - Info MedialZ (pid=32683) StorageServer=PureDisk:Mediz02; Report=FDID
Stats for (Medial2): scanned: 6028360 EB, CR sent: 144975 KB, CR sent over FC: 0 KB, dedup:
G9.8%, cache disabled

12/21/72016 19:28:35 — Infro bpbkar (pid=54303) done. status: 15&: snapshot error encountered
1Z2/21 72016 19:28:35 — end writing; write time: 0:14:05

12/21/2016 19:2B8:37 — Info bpbrm (pid=3871%) S5tarting delete snapshot processing

12/21/72016 19:28:4. — Info bpfis [pid=57120) Backup started

1272172016 19:2824°. - Critical bpbrm (pid=3871%) from client clientl: cannot cpen C:zProcram
Files\Veritas\Netbackup\online utilifi cntl\bpfis.fim.client]l 14623&5660.1.0

122702006/ 18922R:4° — Tnfo hpfia [pid=57120) done. atRtua: 15432

1272172016 19:28:4. — Info bpfis [pid=57120) dope. status: 1542: An existing snapshot is Lo

longer valid and cannot be mounted for subseguent operations
snapshot error encountered (156}
Which two logs will provide the most relevant information for troubleshooting and resolving the error? (Select two.)
A. Operating system logs on the client
B. NetBackup bpfis logs on the media server
C. NetBackup bptm logs on the media server
D. Operating system logs on the media server

E. NetBackup bpfis logs on the client
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Correct Answer: AE

QUESTION 15

A NetBackup administrator configures a policy to perform file system backups of multiple client systems using the Allow
multiple data streams feature. All other policy attributes are at default settings.

Which Master Server parameter must be configured to enable the backup jobs from a client to run concurrently?
A. Target storage unit: Maximum concurrent jobs

B. Global Attributes: Maximum jobs per client

C. Client Attributes: Maximum data streams

D. Target storage unit: Enable multiplexing

Correct Answer: B
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